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Which of the following is a tort as well
as a crime ? :
(1) Private nuisance

(2) Public nuisance

(3) Extortion

(4) Dacoity

(5) Question not attempted

When did the Governor General of
India give the assent to the Indian
Penal Code, 1860 ?

(1) January 1, 1860

(2) January 1, 1862

(3) October 6, 1860

(4) October 6, 1862

(6) Question not attempted

The distinction between Section 299 &
300 Indian Penal Code, 1860 was
clarified by :

(1) Marshall, J in Reg v. Govinda

(2) Melville, J in Reg v. Govinda

(3) Marshall, J in Govinda v. Reg.
(4) Melville, J in Govinda v. Reg.

(6) Question not attempted

gl
Assertion (A) : To constitute the|]. 4
offence of abetment it is notilhweg

necessary that the act abetted
should be committed.

Reason (R) : Because an abetment of
an offence itself is an offence.

Codes :

(1) (A) is false, but (R) is true.

(2) (A) is true, but (R) is false.

(8) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(4) Both (A) and (R) are false and
(R) is not the correct explanation
of (A).

(5) Question not attempted

The defendant’s servant negligently

left a horse van unattended in
crowded street. By the throwing of

- stones at the horse by a child, they

ran away and a policeman was injured
in an attempt to stop them with a
view to rescuing the women and
children on the road.

Above facts are related to the case of

. (1) Haynes v. Harwood

(2) Lynch v. Nurdin

(3) Scott v. Shepherd

(4) Lampert v. Eastern National
Omnibus Co.

(6) Question not attempted
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Punishment for ‘identity theft’ under
Information Technology Act, 2000 is
imprisonment for

(1) A minimum term of 2 years

(2) A minimum term of 3 years

(3) A term which may extend to
three years and fine which may
extend to rupees one lakh.

(4) A term which may extend to
three years and fine which may
extend to rupees two lakh.

(5) Question not attempted

A police officer investigating an
offence under Information Technology
Act, 2000 shall not be below the rank
of :

(1) Deputy Superintendent of Police
(2) Assistant Sub-Inspector

(3) Sub-Inspector

(4) Inspector

(5) Question not attempted

Which one of the following 1is
compoundable offence under
Information Technology Act, 2000 ?

(1) An offence affecting the socio-

economic condition of the -
country.
(2) An offence punishable - with

imprisonment for a period not
exceeding three years. ;

(3) An offence committed against a
woman.

(4) An offence committed against a
child below the age of 18 years.

(5) Question not attempted

In Information Technology Act, 2000
the offence of ‘Cyber Terrorism’ and
its punishment is provided in :

(1) Section66 A (2) Section 66 C
(3) Section 66 E (4) Section 66 F
(5) Question not attempted

Which one of the following 1is

presumed under law to be ‘dole

incapax’ to commit a crime ?

(1) A child of under 7 years of age

(2) A child of under 10 years of age.

(3) A child above 7 years and under
12 years of age.

(4) A child between 10 years and 14
years of age.

(5) Question not attempted
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Under which one of the following
provisions of the Indian Penal Code,
1860 causing death of child in the
mother’s womb is not homicide ?

1) Explanation 1 of Section 299

2) Explanation 2 of Section 299

3) Explanation 3 of Section 299

4) Exception 4 of Section 300

5) Question not attempted

‘A’ appears as a witness before ‘B, a
magistrate. ‘B’ says that he does not
believe a word of A’s deposition, and
that ‘A’ had perjured himself. ‘A’ is
moved to sudden passion by these
words, and kills ‘B’. Here ‘A’ is liable for

(1) Murder under Section 300 of
Indian Penal Code, 1860

(2) Culpable homicide not
amounting to murder under
Section 300, Exception 1 of
Indian Penal Code, 1860

(3) Culpable homicide not
amounting to murder under
Section 300, Exception 3 of
Indian Penal Code, 1860

(4) Culpable homicide not
amounting to murder under
Section 300, Exception 4 of
Indian Penal Code, 1860

(5) Question not attempted

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R).

Assertion (A) : Homicide is the
killing of a human being by a
human being.

Reason (R) : Homicide is either
lawful or unlawful.

Select the correct answer using the

code given below :

(1) Both (A) and (R) are individually

true and (R) is the correct
. explanation of (A).

(2) Both (A) and (R) are individually
true, but (R) is not the correct
explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

(5) Question not attempted

Which of the following hurt is not

rievous hurt ?

1) Emasculation

2)  Privation of any member or joint

3) Temporary disfiguration of the
head or face

(4) Fracture or dislocation of a bone
or tooth

(5) Question not attempted
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Which one of the following pairs is not
correctly matched ?

(1) Gender - Section 81.P.C.

(2) Person — Section9IP.C.

(38) Public — Section 12 1.P.C. -

(4) Public — Section 21 I.P.C.
Servant

(5) Question not attempted

Which one of the following Sections of
the Indian Penal Code has been
declared unconstitutional as violative of
Articles 14 and 21 of the Constitution of
India ? : '
(1) Section 301 (2) Section 303
(3) Section 306 (4) Section 314
(5) Question not attempted

Which of the difference between
Section 34 and Section 149 of IPC
1860 is correct ?

(1) That in Sec 34, there must be at
least 5 persons, whereas in
Section 149 two persons are
required.

(2) That Section 149 is only a ‘rule
of evidence’, whereas Section 34
creates a specific offence

(3) That Section 34 requires active
participation in action whereas

Section 149 require mere
membership of the unlawful
assembly.

(4) That Section 34 need not be joined
with the principal offence whereas
Section 149 must be combined

"~ with the principal offence. '

(5) Question not attempted

Every person has a right to private

defence of body against any offenc

affecting -

(1) His own body only.

(2) His own body and the body of his
relatives only.

(3)° His own body and body of any
other person.

(4) His own body and the body of his
friends only.

() Question not attempted

A police officer detains a person in the
lock-up despite production of a bail
order from the court. The police officer
is guilty of —

(1) Abduction

(2) Wrongful confinement

(3) Wrongful restrain

(4) Kidnapping

(5) Question not attempted
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Dudley and Stephen case is related to
(1) Doctrine of self-preservation

(2)  Act done by person justified by law

(8) Doctrine of compulsion and
necessity

(4) Mistake of law

(5) Question not attempted

Point out incorrect response from the

following :

In order to avail the defence under

Section 89 of the Indian Penal Code

the following conditions must be

fulfilled :

(1) Act done for the benefit of a
person who is insane.

(2)  Act done in good faith.
(3) he consent must always be
express and never implied.
(4) Act must be done by the
guardian or by the consent of the
: ardian.
(5) uestion not attempted

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : A, an officer of a
court of justice, being ordered by
that court to arrest Y, and, after
due enquiry, believing Z to be Y,
arrests Z. A has committed no
offence.

Reason (R) : Nothing is an offence
which is done by a person bound, or
by mistake of fact believing himself
bound, by law.

Select the correct answer using the

code given below :

(1) Both (A) and (R) are individually
true and (R) is the -correct
explanation of (A).

(2) Both (A) and (R) are individually
true, but (R) is not the correct
explanation of (A).

(3) (A)istrue, but (R) is false.

(4) (A) is false, but (R) is true.

(5) Question not attempted

Six persons assembled on platform of
Jaipur Junction and started fighting
with each other. The passengers present
at railway station got annoyed and felt
disturbed. The six persons are guilty of :

(1)  Unlawful Assembly

(2) Affray

(3) Rioting

(4) Assault

(6) Question not attempted
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In which of the following judgements
the Supreme Court of India directed to
all States and Union Territories to
take appropriate steps for inclusion of
acid attack ‘victim’ wunder the
disability list ? :

Laxmi v. Union of India

Anuja Kapur v. Union of India
Common Cause v. Union of India

(4) Parivartan Kendra v. Union of
India

(5) Question not attempted

Which of the statement(s) is/are

correct about the offence of dacoity
under the Indian Penal Code 1860 ?
(a) Attempt to commit dacoity is

punishable.

(b) Preparation of dacoity = is
punishable.

(c) . Assembling for the purpose of

dacoity is punishable.
Choose the correct answer :
(1) Only Statements (a) and (b) are
correct. '
(2) Statements (a) is only correct -
and (b), (c) are incorrect.

(8) Statements (a), (b), (c) are correct.
(4) Only Statement (c) is correct.
(5) Question not attempted

Match List — I with List — IT and select
the correct answer by using the codes
given below the lists :

List -1
A. Offence 1,

List - 11
Section 52-A
Indian Penal

Code

B. Harbour II. Section 52
Indian Penal
Code- _

C. Good faith  III. Section 44
Indian Penal
Code

D. Injury IV. Section 40
Indian Penal
Code

Codes:

A B C D

1 Iv I II I

2 I I1v 1 I

@ I Iv I III

4 Iv 1 I III

(5) Question not attempted




27.

28.

29.

30..

31

32.

S (3) HI72%H

F, T H gl % o T I OB T W
A o oI WShIaT & | ‘S 39Uy w1 R
(1) TAH

(2) AU oA T

(3) A

(4) S=391 IR FE H H

(5) ITITRG S

F M T H YT g IR D T I =
F T = WA R h gy F R
AT B N B TRt W T | St R

(1) - e =rE 5w
(@ Hmﬁﬁﬁém?ﬁﬁgﬁﬁ?ﬁﬂ’ﬂ

(3) ==
(4) BAH

(5) Faiid T

Pt 3 & i 1 O e R T A o | g0

TN 3R & g Td 8 ?
(1) id S99 3 T (2020) 3 TE.€.4,
115

(2) 3T TS T STH THRIY G411 (1976) |

4 wE. 914t 382

(3) TTsm M= (1876) 1 ST 342

(4) TINEHE s H ST (2016) 3
Tg.drd . 325

(5) A W&

. gEe et iR % aga T sik

Tta o Seete % forg &g o yeum &

(1) g 71H (@) 472 %

(4) 73 %

B) aagaitam

Fo gy 6 TP T % SIRER F

éhgmaﬁrﬁfﬂﬁwﬁamwmﬁ
?

(1)

(2) %W‘Em

(3) & A

@) g ffy, W@ g & S W s
% T IWANT A S @R |

(5) IIRG I

¥

Tt Tt At Vi i i e e PSS AL YRR, TR ettt

27.

28.

29.

=]
3=

32.

‘A’ incites a dog to spring upon ‘Z’
without Z’s consent. A is guilty of the
offence of :

(1) Assault
(2) Criminal force
(3) Force

Voluntarily causing hurt
Question not attempted

‘A’ being ‘Z’s servant and entrusted by
‘Z’ with the care of Z’s plate,
dishonestly runs away with the plate
without Z’ consent. ‘A’ is guilty of

(1) Criminal breach of trust

(2) Dishonest misappropriation of
property

(38) Theft

(4) Cheating

(5) Question not attempted

‘A’ obtains property from ‘Z’ by saying
— “your child is in the hands of my
gang and will be put to death unless
you send us five lakh rupees.” A is

guilty of :

(1) Robbery

(2) Extortion e

(3) Criminal intimidation IEHE
i Bdla

(4
)

Which one of the following cases is not
related to distinction between culpable
homicide and murder ?

(1) Paul v. State of Kerala (2020) 3

Attempt to Robbery
Question not attempted

SCC 115 '
(2) State of A.P. v. Rayavarappu
Punnaya (1976) 4 SCC 382
(3) Rezg v. Govinda (1876) 1 Bombay

34
(4) Noorahammad v. State of
Karnataka (2016) 3 SCC 325
(5) Question not attempted
Penalty for Breach of Confidentiality
and Privacy under IT Act is provided in :
(1) Section71 (2) Section 72
(3) Section 72A (4) Section 73
(5) Question not attempted
When the right of defence of property
does not extend to causing death of a
wrong doer ?

(1)  Robbery

(2)  Lurking house trespass by night
(8) House breaking by night

(4) . Mischief by fire to a tent used as

a human dwelling.
Question not attempted
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33. TH gHM & WeA U T 39 weRim H 1 2 | 38. A dress is displayed in the showroom

of a shop with a price tag attached to
(1) an offer

(2) THEFh (2) an acceptance

(3) = o forg Feperon (3) invitation to offer

(4) BIRETS] (4) consideration

(5) NG T (5) Question not attempted

34. %ﬁq—Iaﬁtﬂfﬁ—IIﬁﬁmﬁ@Hﬁm 34, Match List — I with List — IT and mark

the correct answer :

g1 g - 11 List - I List - II
A wRiasmsEiee 1. 9o dRe A. Carlill v. I. Wagering
TeRETel . Carbolic Agreement
B. dsAE M Tged I EHE T Smokeball Co.
s B. Gherulal v. II. General Offer
C. AT m g we 111 HIIL TR Mahadeo Das
Eaeri| C. Tinn v. Hoffman III. Counter
D. gES W ™ IV. 3 AT and Co. Offer
R : D. Hydev. Wrench IV, Cross Offer
A B & D COdeZ : " . 5
@ o I v H 1 o 1 IV II
2 1 II 111 v | %2% III III Imm 1v
I 1 III v 3 1 Iv
) 1 IO IV I 4 I I 1Iv 1l
(4) (5) Question not attempted
(5) ¥ W . 35. Given below are two statements, one
35. 1 3 o F, R F T B i (A) is labelled as Assertion (A) and the
W@ﬁm (R) FET TR : other as Reason (R) :
FAVHY (A) : T T F, e sewd o | Assertion (A) : Every agreement of
TR - 2 ! 2 which the object or consideration
» 3 is unlawful is void.
S (R) _: WA Hiag sAfufrem Reason (R) : Section 23 of Indian
9T 23 T Ieore T T & T femelt s Contract Act mentions when the
1 IRT I1 Ufhel 8 S TR & | consideration or object of an
A R T e I e T IR T agreement is not lawful.

Select the correct answer using the
code given below :

li%
(1) Both (A) and (R) are individually

. Hif : : ' :
pa (1) (A) 3 (R) o =fda: o & 3R (R),

(A) F TE A HFATR | I trucia ag}d (A) is the correct
(2) (A) I R) &Ff =few: T 8, g (), y RAnEbn o e iadividuall
(4) ﬁwwﬁm% ' - tr?xe, (bg.tal(lR)(is) ?11;)%; I?hévt:ol;ﬁec}tr

3) (A) TR, g R)TAE | acg)lanation of (A).

|
!
!
|
4) (A) TR, g R) TR ! (3) is true, but (R) is false.
(5) eI e < ) %&éé’tfi‘if’ bl
36. gﬁﬁﬂ% st S maﬂquﬁ ’ i 36. The agreement ' which is not
@ : ! ?Bforcxﬁz;bd?zgfegally is called :
@ A ‘ (@ Void
8) g | (3) TIllegal
(4) YT Hioel i (4) Voidable contract
(5) ITARd IH : (5) Question not attempted
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37.

38.

39.

40.

et 3 & 2 e R o | 37,
qﬁaﬁ%%ﬁ%m%wﬁ%]
AT

T3 7
(1) eeged 3 foger
(2) TS M =
(3) e sam wifag
(4) STEHR SHH TEHR
(5) JrRE e

Frerferfaa #r gifr S
-1

e

b. Afeleie s=m

A. Eﬂﬂ?ﬁl@%-;'{ﬁm |

B. rafent g fem |

: 2
. e,

D. wffshf ammetor %
¥ wgfua
o

m%
:

. mwﬁa&
Fg
%

(1
(2)
(3)
4 B

(5) 3FfeiRa w7

feffga 4 4 s o saE 9 2 2
(1) @W%nﬁt{ﬁ‘q;‘g:éﬁ%m,
T it H Hafy 39 gl
Tt STEIHala o o s T8 & |
T ArEifenT i d@fder

QP> e
> mao
Oawe
QWgoga

(2)

(3

Fefaa i a s e ad 78 2 2

(1) 3Tieams gfeer — Fem-I11

(2) HiIET o IeeieH & TR — TRV

(3) wferrati 1 FioargH — st IV

4) Hﬁa,;‘lﬁwﬂaqﬁaaﬂw&am—
| -

(5) 3FgERa w7

[y
(=]

ATt Tmmes s TIEI— W LS T4 ik e LS RS Yo LAR. YLt

38.

39.

>
=

Which of the following case laws
became well-known as an illustration
of the principle of ‘intention to create
legal obligation’ ?

(1)  Felthouse v. Bindley
(2) Hyde v. Wrench
(3) Davies v. Collins
(4) Balfour v. Balfour
(6) Question not attempted
Match the following :
List -1 List - IT
a. Lalmanv. A. Communication of
Gauri Dutt acceptance
b. Mohiribibiv. B. A contract by a
Dharmodas minor is
Ghosh absolutely void.
c. Felthousev. C. Silence does not
Bindley constitute
acceptance
d. Brogden v. D. Acceptance had
Metropolitan been communicated
- Railway Case through conduct.
Codes :
a b c d
1) A C B D
2 A B C D ey
@ C A D B EL.:-:;:I
4 B A D C "
(6) Question not attempted
Which one of the following

propositions is correct ?
(1) A minor’s contract being void, a
minor’s property is not bound for
necessities supplied to him.
minor’s  contract being
voidable he is bound to pay for
necessities supplied to him.
A minor’s property is bound for
necessities supplied to him
because a minor’s contract is valid.
A minor’s contract is void but
minor’s property is bound for
necessities supplied to him.
Question not attempted

@

(3)

(4)

(5)

Which one is not correct among the
following ?

(1) . Contingent contract — Chapter-III

(2) The consequences of the breach
of contract — Chapter-V

(3) The performance of the contracts
— Chapter-IV

(4) Of contracts, voidable contracts
and void agreements — Chapter-II

(5) Question not attempted
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41.

42.

43.

44.

45.

46.

08

(1) sifergr o & ik aferdi &

(2) ﬁ'ﬂ?ﬂﬂﬁqﬁé

3) a;rawgarwh

(4) TR AR |

(5) JRIG U

Ry st ARl & R 58 % I
S o TR TR & ?

(O U= (2) 3 (3) 9@
(5) a%aaitaw

ey g oFeR 9w S w1 Fem el
ieRer sififem & frm e g ffga g 2

(1) 941 (2) YR 42 (3) TRI43 (4) YNI44
(5) :ﬂgﬁitam

TuRy 3t Affem, 1882 6t 4w 3 % agd
i o forea = aned @

(4) 3118

(5) 343?&39?:! '

Srfeifga 3 & wuty i sfifem, 1882 %

ST S T1 37T faftmmr g 2

(1) &I % HI G % T [ W 2 6
98 T g ¥ 100 Hiet Yoo = |

2 EHHI500 IR A F RS
BT e | =R e ®
TH I TH A |

(3) W ® T 500 3q I W NG HEaT 8
frag g |

(4) % T 5,000 @ P 59 I W A=A HLaTl

f 9 M, ¥ 3 & & gy @ foemw

M| T R GG R T, TR
T Y@ e g |

(5) IR 5 _

e (A) 3T HRY (R) 6 37 A few

HIE T STANT Hleh I G ¢ .

SRR (A) : TRt R % 1 TETHR
o % S H, S S forg W 7,
L ERE T A

FOT(R) : OdR i s
T 21 W STEeH S 8 |

A

$ A%

ETE ki

1) (A) = R) A a E W (R), (A) FIHE
ST HA S |

@) (R)H& 7, dAfF (A) T2 |

(3) (A)E&3, AT (R) T § |

(4) (A) 3 (R) AT TeIG & |

(5) iR S

41.

42,

43.

44.

45.

46.

The rule of Hadley v. Baxendale is
related to —

(13 Damages for breach of contract.
(2) Discharge of contract.

3; Ratification of contract.
4) Voidable contract.

5) Question not attempted

How many types of mortgages are
there in Section 58 of Transfer of
Property Act ?

1) Five EZ) Six
3) Seven 4) Eight
5) Question not attempted

The Rule of feeding the irant by
estoppel is contained in which Section
of Transfer of Property Act ?

(1) Section 41 &2) Section 42

EB) Section 43 4) Section 44

5) Question not attempted

An instrument as defined under
Section 3 of the Transfer of Property
Act, 1882 means

gl) A negotiable instrument

2) A transferable instrument

(3) A non-testamentary instrument

Eél A will

5) Question not attempted

Which of the following would be a

valid transfer under Transfer of

Property Act, 1882 ?

(1) Alets a farm to B on condition
that he shall walk a hundred
miles in an hour.

(2) A gives ¥ 500 to B if B marries
A’s daughter C. C was dead at
the date of transfer.

(8) A transfers ¥ 500 to B on
condition that she shall murder C.

(4) A transfers ¥ 5,000 to B on
condition that he shall marr
with the consent of C, D, E.
dies. B marries with the consent
of C and D.

(5) Question not attempted

Read Assertion (A) and Reason (R) and

answer by using code given below :

Assertion (A) : An agreement would
be void if both the parties to the
agreement were under a mistake
of facts essential to contract.

Reason (R) : Section 21 of Indian
Contract Act provides so.

Codes :

(1) Both (A) and (R) are correct and (R)

is the correct explanation of (A).

(2) (R) is correct but %A) is incorrect.

(3) (A) is correct but (R) is incorrect.

(4) Both (A) and (R) are incorrect.

(5) Question not attempted




47.

48.

49.

50.

51.

52,

31t HaRT o vE TiEEH T8 B g
(1) aegRT Ui T0T % id ST W
(2) 3frEres g g

(3) e % forw ey i anfer g
(4) GHYET g

(5) 3FFTIRA Fe

TR, = 3R g ST R i Riga

“Th 9K 9YF Hed sy’ g dgeh §R
T AT

(1) 3@ sam e

(2) N ¥H TEH

(3) TS TR S Yeh{eTe

(4) X TG et

(5) A T

gﬁ@mﬁwﬁﬁ:{usmmﬁéﬁﬁa
?

(1) femisw (2) e @ndt

(8) 3If¥Teh uTeH (4) 9uH

(5) I T |

Freferiaa & & foret gufer sfawor arffrem,

1882 % 91T 10 AT AT & 7

%, FEIR R/ g wfey

©. g 1 3T videy

. GHEhd o 3TEsHA % foeg uiiey
H. g T A % feg vy

(1) HIAH (2) H3T

(8) %, @37 (4) &,@,T3INY
(5) TTRA T

Th SARE S e H g B % e
gﬁﬁqﬁf@ﬁﬁrﬁméﬂ%lww’
(1) foResmfer  (2) @wPa fa

(3) Fifza fea (4) IFR

(5) IR I

¥ 2002 § oy siewor ARiFEm, 1882 F
(1) 9RT100H (2) 9WI106H

(3) W 108 H (4) YR 110#H

(5) TR A

| 47.

i
|
|
|
|
|
|
|
|
|
|
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48.

49.

50.

51

52

A lease of immovable property does
not determine :

(1) by efflux of time limited thereby.
(2) by express surrender.
(3) on the service of notice to quit.

(4) . by forfeiture.
(6) Question not attempted

The principle “once a mortgage always
a mortgage”, a principle based on
equity, justice and good conscience
was for the first time propounded in :

(1) Harris v. Harris

(2) Noakes v. Rice

(3) Seth Ganga Dhar v. Shankarlal
(4) Hunter v. Abdul Ali

(5) Question not attempted

Ram Coomar Kundoo v. McQueen
(1872) is related to :

(1) Lis Pendens

(2) Ostensible Owner

(3) Part Performance

(4) Mortgage

(6) Question not attempted

In which of the following, Section 10 of
the Transfer of Property Act, 1882 is
applicable ?

A.  Absolute restraint on transfer

B. Partial restraint on transfer

C. Restriction against alienation in

compromise
D. Restraint against alienation in
gift
(1) Only A (2 A&B
3 AB&C (4 ABC&D
(6) Question not attempted

A man gift his property to a temple,
subject to the condition of the death of
his wife. What is created by the
transaction ?

(1) Special Succession

(2) Contingent interest

(3) Vested interest

(4) Void agreement

(6) Question not attempted

The amendment of the Transfer of

Property Act, 1882, in the year 2002
amended the provisions of :

(1) Section 100 (2) Section 106
(8) Section 108 (4) Section 110
(6) Question not attempted
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53.

54.

55.

56.

57.

58.

08

ffafae & @
et afral % wfefrenfeer @

i /a3 SRR & wElE B ?

(1) foemamgiar  (2) SenwEl

(3) T HiY (4) HHEIA

(5) AR S

yRfenRer  sfifem, 1957 % 3%
W%ﬁqﬁmﬁw{ﬁmm

% 0 54.

(1) S o 109998

(2) i w50 ¥ wG

(3) aagﬁﬁwﬁaﬁwﬁsﬁﬁ% 10
1[4

(4) 38 SHf B A Tt =ARE 6 TG S 60
TH 91g

(5) AN T

Yoz arfifm, 1970 % JF@ia ¥ e @
qHEAR ?

(1) 1098 (2) 2099 95
(3) 409 (4) 60w

(5) ST S

IR IS HA T 7 debieh e Hd & =
3% YET IEE, ) SR SN 2, 1 8 GA i :
T SRR 6 e ) D Ao 3 T

TR B Afieh G HI IR I AHA S ?

(1) diferpdsha (2) We

@) WFafem  (4) e

(5) ITRA A

R Yoz sififem < e am H Sl

Y dalE s R 1 Yo zﬁwwrz%

YEUE R ? 57.
(1) &m3 (2) YW 4

(8) €6 (4) 9115

(5) TR A

1 I HE(A B

(1) TSt = Soctem

(2) =R g =1 SewreA
(3) wfeferenteerr 1 Seeter
(4) <= Hivhe I Seeta

(5) I A

|

|

|

|
Aepfirer Ug Hu fAfiee s %. U8 o, FW i

| 58.

|

|

|

|
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¥ HA H/a aﬁr/msi‘m 53.

Which of the following treaty/
agreement deals with rights of
visually impaired persons to access
copyrighted work ?

(1) Lisbon Agreement

(2) Budapest Treaty

(8) Marrakesh Treaty

(4) Rome Convention

(5) Question not attempted

How long does copyright last in case of

artistic work under Copyright Act,

1957 ?

(1) 10 years after the creation of the
work.

(2) " 50 years after the creation of the
work.

(8) 10 years after the death of the
person who created that work.

(4) 60 years after the death of the
person who created that work.

(5) Question not attempted

Under Patents Act, 1970 how long do
patents last for ?

(1) 10 years (2) 20 years

(3) 40 years (4) 60 years

(5) . Question not attempted

If a company develops a new
technology that improves its main
product, what type -of intellectual
property can it use to stop others from
copying its invention ?

(1) Geographical indications

(2) Patents

(3) Registered designs

(4) Trademarks

(5) Question not attempted

Which Section of Patents Act, 1970
deals with the ‘inventions relating to
atomic energy not patentable’ ?

(1) Section 3 (2) Section 4

(3) Section 6 (4) Section 11A
(5) Question not attempted

The case of McMillan & Co. Ltd. v. K.
and J. Cooper is related to :

(1) Infringement of Designs

(2) Infringement of Trademark

(3) Infringement of Copyright

(4) Infringement of Trade Secret

(5) Question not attempted




59.

60.

61.

62.

63.

64.

Frafafaa & @ frel vhifenfer st § | 59.
TE w2
(1) Frve Rt &
2) dRems e i
(4) STEgeheT ¥ Hafe o wfear §
(5) FTRA T
wiiferanfesr sififem, 1957 S 60.
T o & Ry ARFER F 3w R |
(1) €m55 (2) UM 56
(3) W57 (4) 9WI58
(5) e e 61.
e AffEm, 1970 % Fafa e s A
USZ o1 @IS o Hehdl 8 ?
(1) e e (2) v s
(3) 3= AR (4) S THR
(5) ST
famg ed &, forar <t fereram B 2 62.
(1) ot e Sauttee
(2) =it T sauftesd)
(3) M
(4) =Y
(5) eRE S 63.
P g g @ o o gm vd g 2 2
FICDIC] g
(1) e — 4 9 &g Fmmg
SRR &1 srfefem, 1955 !
TR
(2) fags - 4w g feefem ;
?ﬁ?@w a:i%ﬁafi,ﬁw% |
@) =k - ywisffEE |
YRR eI, 1955 |
4 IECIH ~ 11 fggfomm |
e afaﬁzmﬁ,?%s i
(5) IR T ' 64,
T BT 6 T B AW I IS A |
e % T yeb ot T et & | S e %
TohT h! g He 1 3w 7% femH % oy, |
HHHA ¢ Toh HIS I g T E ? |
(1) wifise (2) “fimiferes gehd |
(3) wofipa fosmr  (4) Temh |
(5) NG S :
; 14

In which of the following copyright
does not subsist ?

(1)  Sound recording

(2) Cinematograph film

(3) Musical work

(4) Process of construction related to

work of architecture
Question not attempted

()

Author’s special rights are provided in
of Copyright Act, 1957.

(1) Section55 (2) Section 56
(3) Section 57 (4) Section 58
(6) Question not attempted

Who may revoke the patent in public
interest under Patents Act, 1970 ?

(1) Appellate Board

(2) Controller of Patents
(3) High Court

(4) Central Government
(5) Question not attempted
In Hindus, father’s widow is a
(1) Class I heir

(2) ClassII heir

(3) Agnate

(4) Cognate

(5) Question not attempted

Which one of the following pairs is not
correctly matched ?

Provision Section

(1) Restitution of — Section 9 Hindu
Conjugal Marriage Act, 1955
rights

(2) Registration — Section 8 Hindu
of Hindu Marriage Act, 1955
Marriage

(3) Judicial — Section 12 Hindu
separation Marriage Act, 1955

(4) Voud — Section 11 Hindu
marriages Marriage Act, 1955

(5) Question not attempted

Imagine a sports team sets up a
company to sell its own range of
clothes. What type of intellectual
property can the team use to show
that the clothes are made by them ?

(1) Copyright

(2) Geographical indications

(3) Registered designs

(4) Trademark

(5) Question not attempted
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T Hege % ug fEfiaa s g -
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¥
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66.

67.

68.

(2

A coparcener has the following rights :
A.  Right of Joint Ownership

B. Right of Joint Possession

C. Right to Maintenance

D. Right to Partition

Codes :

(1) OnlyA&B (2) OnlyA,B&D
(3 OnlyB&D (4) ABC&D
(5) Question not attempted

Section 28(3) of the Hindu Marriage

Act, 1955 states that

(1) Every appeal shall be preferred
within 90 days from the date of
the decree.

There shall be no appeal on the
subject of costs only.

All decrees made by the court
under this Act shall be
appealable.

Orders made by the court under
this Act under Sec 25 or 26 be
appealable if they are not
interim orders.

(5) Question not attempted

Assertion (A) : A child adopted
under Hindu Adoptions and
Maintenance Act, 1956 shall be
deemed to be the child of his or
her adoptive father or mother for
all purposes with effect from the
date of adoption.

Reason (R) : A wvalidly adopted
child may renounce his or her
status as such after attaining the
-age of 21 years and return to his
family of birth.

Codes:

(1) (A) is correct and (R) is true

explanation of (A).

(2) (A) is false, but (R) is correct.

(3) (A) is correct, but (R) is false.

(4) Both (A) and (R) are correct.

(5) Question not attempted

A is the father of B, both were Hindus.
Both of them died in a shipwreck. It
was uncertain whether either of them
and if so, who survived the other.
What will be the rule of succession ?

3

4)

(1) B, the son, shall be presumed to
be died first.

(2) A, the father, shall be presumed
to be died first.

(3) Both of them died together
therefore no presumption.

(4) It depends on the facts of each
case.

(5) Question not attempted
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j 69.

70.

71.

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : A person who commits

'~ murder or abets the commission of
murder shall be disqualified from
inheriting the property.

Reason (R) : any person is
disqualified from inheriting any
property under Hindu Succession
Act, it shall devolve as if such person
had died before the intestate. -

Select the correct answer using the

code given below :

(1) Both (A) and (R) are individually

true and (R) is the correct

explanation of (A).

Both (A) and (R) are individually

true but (R) is not the correct

explanation of (A).

(A?is true, but (R) is false.

(4) (A)is false, but (R) is true.

(5) Question not attempted

Match List — I with List — II and

choose the correct answer using the

code given below the lists :

List -1 List - I1

A. Heir I. Section 3(a) Hindu
Succession Act, 1956

B. Cognate II. Section 3(c) Hindu
Succession Act, 1956

C. Intestate III. Section 3(f) Hindu
Succession Act, 1956

@

(3)

D. Agnate IV. Section 3(g) Hindu
Succession Act, 1956

CodesA : o a -

51) I I I IV o

9 M I IV I L

3 Iv 1 I 11 -

4 I IV III 1I

(6) Question not attempted

Consider the following events and
arrange them into chronological order
as per Sections of the Hindu Marriage

Act, 1955

I Permanent alimony and
maintenance

II. Maintenance, “pendente lite”

and expenses of proceedings.
Custody of children

Relief i%r respondent in divorce
and other proceedings.

Select the correct answer using the

III.
Iv.

codes given below :
(1) III Iv 1II I
g2) II III IV 1
3) IV 1I I III
(4 I I I 1
(6) Question not attempted
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72.

73.

74.

75.

(1) One (2)

Doctrine of “Factum Valet” enables to
cure the violation of

(1) A directory text

(2) A mandatory text

(3) Fundamental principle

(4) Both (1) and (2)

(5) Question not attempted

Who among the following is not a

dependent of the deceased under

Section 21 of Hindu Adoptions and

Maintenance Act, 1956 7

(1) His father

(2) His illegitimate
daughter.

(3) His widowed daughter having no
means of maintenance.

(4) Unmarried daughter of his pre-
deceased son.

(5) Question not attempted

Section 17 of Hindu Marriage Act,
1955 provides punishment for :

(1) Bigamy

(2) Child Marriage

(3) Voidable Marriage '
(4) Both Bigamy and Child Marriage
(5) Question not attempted

married

Elements of ‘desertion’ as a ground for

divorce under Hindu Marriage Act,

1955 are :

(1) Factum of separation only

(2) Animus deserendi only

(3) Both Factum of separation only -
and Animus deserendi only

(4) . Neither Factum of separation
only nor Animus deserendi only

(5) Question not attempted

How many grounds of ‘Breakdown
Theory’ of divorce are incorporated in
Section 13 of Hindu Marriage Act, 1955 ?
Two
(3) Three (4) Four
(5) Question not attempted

Which one of the following cases is not
related to desertion as a ground of divorce
under Hindu Marriage Act, 1955 ?

(1) Savitri Pandey v. P.C. Pandey
(2) Bipin Chandra v. Prabhavati

(3) Lachman v. Meena

(4) Atma Singh v. Gurmej Kaur

(5) Question not attempted
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79.

80.

81.

Contingent Hiba (gift) in Muslim law is

(1) Void
(2) Valid under certain conditions
(3) Valid

(4) Voidable
(5) Question not attempted

Which of the following pair is incorrect ?

(1) Shafi-e- - Co-sharer in
Sharik property
(2) Shafi-e- — Owner of adjoining
Jar immovable property
(3) Talab-e- — Immediate demand
Tamlick
(4) Talab-e- — Confirmatory =
Ishad demand
(5) Question not attempted :
Match the following :
List-1 List - IT
A. Kilawat-ul- I. Illicit
Sahiha Intercourse
B. Khayar-ul II. Undivided share
Bulugh in property
C. Zina ITI. Option of
puberty
D. Musha IV. Vahd retirement

Choose the correct answer :
A B C D
1 I II 1II 1Iv
@ Iv III 1II I
(8) III I Iv 1I
4 IV III I II
(5) Question not attempted

Which of the following statement is
not correct regarding marriage under
Muslim Law ? »

(1) Muslim man may marry any
number of wives not exceeding
four.

(2) Sunni Muslim man marries a
fifth wife, such marriage is not
void but irregular.

(3) A man in Hanafi law can’t marry
a Kitabiya. -

(4) A Shia, whether male or female
can’t marry a non-Muslim in the
Nikah form.

(5) Question not attempted -

If in a Muslim Marriage ‘Mehr’
(Dower) is unspecified, the wife is
entitled to get

(1) Mehr-e-Musamma

(2) Mehr-e-Muajjal

(3) Mehr-e-Muwajjal

(4) Mehr-e-Misl

(5) Question not attempted

08



83.

84.
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86.

87.

88.

89.
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83.

84,

85.

86.

87.

In which case Justice Sir Shah
Suleiman held that Muslim marriage
is both a civil contract and a religious
ceremony ?

(1) Anis Begum v. Mohd. Istafa
(1935) 55 All. 743

(2) Abdul Kadir v. Saliman (1886) 8
All. 149

(3) Skinner v. Orde (1876) P.C. 211

(4) Ahmad Bakhsh v. Smt. Nathu
(1903) All. 791

(56) Question not attempted

Govind Dayal v. Inayatullah is a
leading case on

(1) Wwill (2) Hiba
(3) Dower (4) Pre-emption
(5) Question not attempted

The leading case Itwari v. Asghari is
related to

(1) Muta Marriage

(2) Restitution of conjugal rights
(3) Iddat

(4) Acknowledgement of paternity
(5) Question not attempted

A Muslim man marries his foster
sister. This marriage is :

(1) Sahih

(2) Fasid

(3) Voidable at the option of sister
(4) Batil

(5) Question not attempted

A Dbequest made to a person who
causes the death of the testator
yvithout any intention, under Shia law

is .

(1) Valid

(2) Void

(8) Void-ab-initio
Voidable

(4)
(6) Question not attempted

.. Which of the following is not a ground of

irregular marriage under Muslim law ?

(1) Polyandry

(2) Unlawful conjunction

(3) Marriage with fifth wife

(4) Marriage without witnesses
(6) Question not attempted

A Muslim man is prohibited to marry his
brother's daughter on the ground of
(1) Affinity

(2) Consanguinity

(8) Fosterage .

(4) Prohibitive incapacity

(®)

Question not attempted
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96.

Under Muslim law Doctrine of Cypres
is applicable on :

(1) Hag-Shufa (2) Waqf

(8) Nikah (4) Talaq

(5) Question not attempted

Under the Dissolution of Muslim

Marriage Act, 1939 a Muslim

Marriage may be dissolved by which

of the following ?

(1) By the husband alone by
pronouncing talaq.

(2) By the wife using Talak-e-
Tafweez

(3) By the court on the ground of
mutual consent.

(4) By the court in a petition filed by
the wife.

(5) Question not attempted

Pre-testing and pilot study are parts of :
(1) Social Survey(2) Interview
(3) Sampling (4) Observation
(5) Question not attempted

The term participant observation was
first used in 1924 by

(1) P.V.Young

(2) Montesquieu

(8) Goode and Hatt

(4) Lindman

(6) Question not attempted

Which of the following group is non-

experimental research method ?

(1) Historical, Correlation,
Qualitative, Ex post facto

(2) Survey, Quantitative, Ex post
facto

(8) Historical, Qualitative, Survey

(4) Case Study, Ex post facto,
Qualitative

(5) Question not attempted

Unit, universe, strata and source list
are the terms associated with

(1) Hypothesis

(2) Observation method

(3) Bibliography

(4) Sampling

(5) Question not attempted

Which of the following is described as
family Waqf under Muslim Law ?

(1) Wakf-alal-aulad '

(2) Ijma

(3) Mutawalli

(4) Hazina-ul-wakf

(5) Question not attempted
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97.

98.

99.

100.

101

What is the purpose of the “Results”
section in a research report ?

(1) To present the theoretical
framework.

(2) To discuss the limitations of the
study.

(8) To analyse and interpret the
data.

(4) To provide recommendations for
future research.

(5) Question not attempted

What does the “Discussion” section of
a research report involve ?

(1) Presenting  the theoretical
framework

(2) Analyzing and interpreting the
results

(3) Summarizing  the existing
literature

(4) Describing the research design

(5) Question not attempted

What is the primary purpose of the

“Conclusion” section in a research

report ?

(1) To summarize the key findings
and implications.

(2) To introduce the research topic.

(3) To highlight the limitations of
the study.

(4) To provide recommendations for
future research.

(5) Question not attempted

What is a key consideration when
formulating a research problem ?

(1) The Ilength of the problem
statement.

(2) The complexity of the research
design.

(3) The clarity and specificity of the
problem. -

(4) The inclusion of personal
opinions.

(5) Question not attempted

. When two or more successive

footnotes refer to the same work
which one of the following expression
is used ?

(1) ibid. (2) etal
(3) op.cit. (4) loc.cit.
(5) Question not attempted
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102.

103.

104.

105.

106

10

7. Which of the following

Variables that may impede or
interfere in the relationship between
independent and dependent variable
are called —

(1) Continuous variables
(2) Qualitative variables
(3) Extraneous variables
(4) Discrete variables

®)

Manipulated variables are called
and measurable variables
are called

Question not attempted

(1) Active variable, Attribute
variable

(2) Attribute variable, Active
variable

(8) Quantitative variable, Active
variable

(4) Qualitative variable, Quantitative
variable

(5) Question not attempted

Which of the following is not included
in the preliminary part of long report ?

(1) Title page

(2) Table of content

(3) Introduction

(4) Abstract

(5) Question not attempted

Which of the following is not a way of
citing and referencing legal material ?

(1) OSCOLA

(2) Harvard Blue Book

(8) McGill Guide

(4) All India Reporter

(5) Question not attempted

. Identifying causes of a problem and

possible solution to a problem is —

(1) Field study

(2) Diagnostic study
(8) Action study

(4) Pilot study -

()

Question not attempted

is not a
secondary data ?

(1) Data archives (2) Internet articles
(3) Observations (4) Books

(5) Question not attempted
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112

Which one of the following-is not
correct ?

(1) Doctrinal Research is a
theoretical study.

(2) Doctrinal Research does not lay
much emphasis upon legal
principles.

(3) Non-doctrinal research involves

empirical study.

Non-doctrinal research needs
special practical training.
Question not attempted

“@
(8)

‘Research is a systematised effort to
gain new knowledge’, is defined by —

(1) Redman and Mory

(2) J.H. McGrath

(3) Goode and Hatt

(4) Auguste Comte

(6) Question not attempted

What is the purpose of a control group
in an experiment ?

(1) To receive the experimental
treatment.

(2) To provide a baseline for
comparison.

(3) To ensure random assignment.

(4) To increase the external validity.

(5) Question not attempted

Anything used as a means of
accomplishing a task or purpose is
called as

(1) Scale (2) Tools
(3) Technique (4) Observation
(6) Question not attempted

. Which of the following is incorrect
about hypothesis ?
(1) A good hypothesis is generally
simple.
(2) It is necessary that a hypothesis
must never be capable of ‘being
proved’ or disproved.
Hypothesis provides
direction to a research.
In empirical research, formulation
of hypothesis is an essential
component of research design.
Question not attempted

3)
4

a right

(5)
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114.

115.

116.

117.

is a subset of a
(1) Sample, population
(2) Population, sample
(3) Statistic, parameter
(4) Parameter, statistic
(5) Question not attempted
The scale wused for measuring

association or closeness of contact
between different groups is known as —

(1) Thurston scale

(2) Likert scale ke
(3) Bogardus scale Eﬂ.‘ e
(4) Guttman scale o
(5) Question not attempted

What distinguishes a well-formulated
research  problem  from  poorly
formulated one ?

(1) The length of the problem
statement.

(2) The inclusion of jargon and
technical terms.

(3) The presence of a clear and
focused question.

(4) The complexity of the research
design.

(5) Question not attempted

What 1is the purpose of the

“Methodology” section in a research
report ?

(1) To present the results of the
study.

(2) To discuss the limitations of the
research.

(3) To describe the procedures used
in the study.

(4) To provide recommendations for
future research.

(5) Question not attempted

The objective of this method is to
analyse and critically evaluate the
efficacy of law with numerical data in
a systematic investigation to achieve
the desired goal.

(1) Historical Research

(2) Action Research

(8) Analytical Research

(4) Not related to research methods
(5) Question not attempted
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What is the role of a null hypothesis
in a research study ?

(1) To establish the researcher’s
predictions.

(2) To suggest an alternative
explanation. ‘

(3) To provide a basis for statistical
testing.

(4) To guide the literature review
process.

(5) Question not attempted

According to role which one is not a
classification of Interview ?

(1) Uncontrolled (2) Focussed
(3) Mixed (4) Group
(5) Question not attempted

Which one of the following is not a
type of schedule according to P.V.

Young ?

(1) Prelude (2) Observation
(3) Evaluation (4) Document
(5) Question not attempted

Which one of the following is not a
merit of questionnaire ?

(1) Economical

(2) Time saving

(3) Minimizes bias

(4) Incomplete responses

(5) Question not attempted

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : A research hypothesis

is essential in the smentlﬁc
method.
Reason (R) : It provides a testable

statement that guides the
research process and allows for
empirical testing.
Select the correct answer using the
code given below :

(1) Both (A) and (R) are individually
true and ([R) is the correct
explanation of (A).

(2) Both (A) and (R) are individually

true, but (R) is not the correct
explanation of (A).

(3) (A)is true, but (R) is false.
(4) (A) is false, but (R) is true.
(6) Question not attempted
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123.

124.

125.

126.

127,

1

28
129.

Who has propounded the “Pigeon
Hole” theory ?

(1) Winfield (2) Salmond
(3) Pollock (4) Starke
(5) Question not attempted

When the defendant by his negligence
has created danger to the safety of A
and he can foresee that somebody else,
say B is likely to rescue A out of that
danger. The defendant is liable to —

(1) A 2 B

(8) BothA&B (49 Neither AnorB
() Question not attempted

Throwing goods overboard a ship to
lighten it for saving the ship or
persons, is an act of —

(1) Inevitable accident

(2) Necessity i
(3) Mistake ﬁl
(4) Negligence Y
(5) Question not attempted

The law permits use of reasonable
force to protect one’s person or
property. For protection of property
law does not permit which of the
following measures ?

(1) Fixing broken pieces of glass

(2) Spikes on walls

(3) Keeping fierce dog

(4) Fixing spring guns

(5) Question not attempted

The plaintiff and the defendant, who
were members of a shooting party,
went for pheasant shooting. The
defendant fired at a pheasant, but, the
shot from his gun glanced off an oak
tree and injured the plaintiff

(1) It is a case of negligence.

(2) Itis a case of accident.

(3) Itis a case of inevitable accident.
(4) Itis a case of mistake.

(5)

Question not attempted

. Neighbour’s principle was propounded

by Lord Atkin in the case of —

(1) Donoghue v. Stevenson
(2) Polemis case

(3) Derry v. Peek

(4) Rylands v. Fletcher

5

Who defines “tort as tortious liability
arises from breach of a duty primarily
fixed by law” ?

Question not attempted

(1) Winfield (2) Salmond
(3) Starke (4) Pollock
(5) Question not attempted
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130.

131.

132.

133.

An employer can be made liable for the
wrongs of the independent contractor :

. If an employer authorises the
doing of an illegal act.
In cases of strict liability.
In cases of nuisance.
When tort results not in breach
of master's common law duties
towards his servant.
Which one of the above is not correct ?
gl A €2; B
3 C 4 D
(5) Question not attempted
A customer gives some amount or
cheque to the bank employee for being
deposit in the account (in the capacity
of friend) but he misappropriates the
amount. For determination of liability
of bank consider the following statements :
A. The bank is liable as the act is
done in the course of employment.
Bank is not liable as the act is not
done in the course of employment.
C. The employee is liable as his act is

outside the course of employment.

D. The employee is liable as the act
is done for his personal gain.
Which of the statement(s) given above
is/are correct ?

Sam

B.

(1) A&B gzg AB&C
(3 B,C&D 4) A C&D
(5) Question not attempted

There was a long queue of cricket
enthusiasts. There was a stampede
and a young boy of 16 years standing
in queue was seriously injured.

Which of the following statement(s)
is/are correct ? Decide with the help of
code given below : . )

. It was a case of tpoh_ce brutality.
B. It was a case of failure of police
to perform its duties. .

It was not a case of failure of
Pohce to perform its duties. _
. t was not a case of police brutality.
Codes :

B&D

%; A&B 52; Lt

B&C 4

Question not attempted
Consider the following statements :
If a servant does a wrongful act in the
course of his employment.
A.  Only his master is liable.
B.  Only the servant is liable.
C. The servant is not liable.
D. Both master and servant liable
Which one of the above statements is
correct ?

gl) A (2; B
3; C 4 D
(5) Question not attempted
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Bhim Singh v. State of J&K is related

(1) Damnum sine injuria
(2) Injuria sine damnum
(3) Negligence

(4) Act of God

(5) Question not attempted

Which of the following is not essential

for a successful defence of fair-
comment ? )
(1) It must be a comment i.e. an

expression of opinion.

The comment must be fair.

The matter commented upon
must be of public interest.

The comment must be assertion
of facts.

Question not attempted

(2) .
®3)

(4)
(5)

Consider the case of Shyam Sunder v.
State of Rajasthan wherein the driver
engaged in a famine relief work was
negligent and decide the liability of
the state.

Which of the following statement(s)

is/are correct in connection with

liability of the state ?

A. The state is liable as famine
relief act is not a sovereign
function.

B. The state is not liable as the
famine relief act is a sovereign
function. _

C. The work cannot be undertaken
by private individuals.

D. The work can be undertaken by
private individuals.

Codes:

1) A&D 2) B&C
B A&C 4 C&D
(6) Question not attempted

Every act of the police is not in
exercise of sovereign power. In which
of the following case the plea of the
government that the act was done in
exercise of sovereign power was not

accepted ?

(1) State of Assam v. Mohammed
Nizamuddin Ahmed

(2) State of Orissa v. Padmalochan

(8) State of Punjab v. Lalchand
Sabharwal

(4) Pagdala = Narsimham V.
Commissioner and  Special
Officer

(5) Question not attempted
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138.

139.

140.

141.

142.

&

In Malicious prosecution, a person
may be prosecuted only when the

proceedings

(1) Conducted before police
authority

(2) Conducted before judicial
authority

(8) Conducted before disciplinary
authority

(4) Conducted before executive
authority

(6) Question not attempted

In which of the following cases the act
was said to be ‘Sovereign act’ ?

(1) State of Rajasthan v. Mst
Vidyawati

(2) Kasturi Lal Raliya Ram v. State
of U.P. ,

(3)  Shyam Sunder v. State of
Rajasthan

(4) Bhim Singh v. State of J&K

(5) Question not attempted

In which of the following, tort of

defamation is committed ?

A. Defamation of deceased person

B. Defamation of class of person

C. Defamation of a director of a
company.

Choose answer using codes :

(1) Aonly (2) AandB
3) A,BandC (4) Conly
(5) Question not attempted

Distinguishing between “Negligence” as
a tort and as a crime the court observed
to fasten liability in criminal law
In which one of the following cases this
observation was made ?

---------

(1) R.v.Lawrence

(2) Jacob Mathew v. State of Punjab

(3) R.v.Caldwell

(4) Andrews v. Director of Public
Prosecution

(5) Question not attempted

Sometimes the law recognizes “No
fault liability”. What kind of cases can
be covered in this category ?

(1) Nuisance and negligence

(2) Strict liability and absolute
liability

(8) Negligence and contributory
negligence

(4) Nuisance and rescue cases
Question not attempted
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143. Which of the following case is not related
to contributory negligence of children ?

144,

145.

146

(1)
)
(3)

(4)
(5)

R. Srinivas V. K.M.
Parasivamurthy

Metias Costa - w. Roque
Augustinho Jacinto

D.T.C. v. Lalita

Gee v. Metropolitan Railway Co.

Question not attempted

Which of the following is/are important

factor/s to constitute the tort of nuisance ?

A. Abnormal sensitivity on the part
of plaintiff

B. Malice on the part of the defendant.

Select the correct answer using the

code given below :

(1) Aonly (2) Bonly

(3) BothA&B (4 Neither AnorB

(5) Question not attempted

Match List — I with List — IT and select
the correct answer by using the codes
given below the lists :

List - 1 List-1II
A. Wrongful act done 1. Actionv.
intentionally Blundell
without just cause
or excuse.
B. Violation of a legal II. Malice in

right without fact
causing any harm,

loss or damage to

the plaintiff.

C. Wrongful act done III.Malice in
intentionally with evil law
motive

D. Damages without IV. Ashby v.
the violation of a White

legal right is not
actionable in a

court of law

Codes:

A B C D
1 1 I v I
2 I 1Iv 1 I
@ 1 N I
4 I Im 1I Iv
(5) Question not attempted

. In an action for nuisance the courts
have recognised some effectual defences
as well ineffectual defences. Which of
the following is effectual defence ?

(1) Nuisance due to act of others

(2) Public good

(8) Prescriptive right to commit nuisance
(4) Plaintiff coming to nuisance

Question not attempted
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147.

148.

149.

150.

An Act of God is

A. An inevitable accident with
human intervention. _
B.  Act beyond the control of human

might.

C. An extraordinary occurrence
which could not reasonably be
anticipated.

Codes :

(1) Only A and B are correct.

(2) Only A and C are correct.

(8) Only B and C are correct.

(4) A, Band C are correct.

(5) Question not attempted

In which of the following cases, it was
observed that if an act is otherwise
lawful it does not become unlawful
merely because the same has been
done with an evil motive ?

(1) Allenv. Flood

(2) Mayor of Bradford Corpn. v.
Pickles

(3) Town Area Committee v. Prabhu
Dayal

(4) Stone v. Bolton

(®)

Which one of the following pairs is not
correctly matched ?

Question not attempted

(1) Lloydv. — Principal &
Grace, Smith Agent
& Co.

(2) Hamlynv. — Partners
Houston &
Co.

(8 Tirlok Singhv. — Master &
Kailash Bharti Servant

(4) State Bank of — Principal &
India v. Agent
Shyama Devi

(6) Question not attempted

Doctrine of apportionment of damages

in  contributory negligence is

applicable :

(1) InIndia only

(2) In England only

(3) Both in India and England

(4) Neither in India only nor in
England only

(5) Question not attempted
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